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1.  (a)

(b)

throughout the paper.
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| Attempt all questions. 4j] questions carry equal marks,
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How to determine residential status of an Individual and a Company?

T S S FA A ST Ra 271 Pafor 28wy

The following are the incomes of Mr. Aman for the previous year 2015-16:

()  Income from agriculture in Bangladesh

(i)  Salary received in India for services rendered in Iraq'(compﬁtcd)

(i) Income from business carried on in Kathmandu controlled from
Lucknow (one-third received in India) ‘

(iv) Dividend froma domestic company

(v) Interest earned and received in Australia froin Bank Deposits there e

(vi) Pension from former employer in India but received in Sri Lanka

Rs.
1,20,000
1,80,000

96,000
16,000
26,000
56,000

Compute Mr. Aman’s Gross Total Income ifhe is (a) Resident and ordinarily resident, (b) Resident

but not ordinarily resident and (c) Non-Resident in India.

mwmis—w%mﬁmmﬁmﬁwﬁ@aﬁ:
) ERT § R & oy

o
1,20,000

(i) mﬁﬁﬂéﬁmﬁ(mm)%fmwﬁmmww 1,80,000

(i) mmgﬁmmﬁmmwﬁaﬂwm%ﬁmw
(0 e wme & wrar far o)

(v) W F Y I

96,000
16,000
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(a)

(b)

v) ¥% el ¥ sifefwar § sifa we ok sl § & wa e T - 26,000

vi) uRa § gl & Y99 S sfider § g @ T , 56,000

et o B T G A B AR BING AR I8 (F) Fard R qrewer P

2, (@) Farht Wy aurem: Fad 78 2, &R (M) wra § - ¥ 6
Or(aﬂﬁl)

What is the scheme of partial integration of Non-Agricultural Income with Agricultural
Income? ‘ '

GRS B AT T F A TR B B AT HT B2 6
Mr. X is a citizen of Australia. His maternal grandfather was born in a village near Lahore in
1932. He came td India on April 7, 2015 to complete a foreign assignment of his emﬁloyer
company. He goes back on October 4, 2015. Mrs. X is ROR in India for the previous year 2015-
16. Before April 7,2015, he was in India as follows:

Previous year No. of days when Mr. X was in India
~ 2014-15 179 '
2013-14 ' 182
2012-13 180
2011-12 | 72
2010-11 175
2009-10 and before Nil

Determine his residential status for the assessment year 2016-17.

foret X Sifeferar &1 AR & | SHeET A AT 1932 H WER & Fee wa F S an
I§ 7 YT 2015 B U PRl B BT B Ry F Fag w3 & W@ wE F e ara
ST 7| 96 4 SERET 2015 FY AT T A & | BRT X Row af 2015-16 F R
ROR &T1 7 3%« 2015 & Yeq ey Ua 9T & 39 Y&R @7 4

frod = i X @ W # R @ R
2014-15 179
2013-14 : 182
2012-13 180
2011-12 72
2010-11 175
2009-10 § 389 Y&l T

it aw 2016-17 & fow SHa A Rafy @ Frefor it 5




3 e | 1858

Mr. Nagesh (42 years) received the following ‘emoluments during the previous year 2015-16: i

Basic Salary Rs. 11,00,000. DA (not forming part of salary) 10% of salary. Bonus Rs. 78,000. Education
allowance Rs. 1,000 per month for 2 children. Commission (fixed) Rs. 46,000. The employer provides
a reﬁt free accommodation in Hyderabad. Lease rent of unfurnished accommodation is Rs. 56,000.
The employer.also provides Furniture costing Rs. 36,000 (WDV Rs. 14,000) and two AC’s (rent paid
Rs. 11 OOO) Mr. Nagesh ‘contributed 11% of his salary towards RPF. His employer also makes a
matching contribution, Interest is cred1ted to his RPF account @ 10%. He also recelved mterest
income on Bank Deposits Rs. 2,56,000. _

Determine his taxable income and tax liability for the assessment year 2016-17 on the assumption that

he contributed Rs. 25,000 towards PPF.

e T (42 ) @ e o 2015-16 B R Pt wRatent W g

T AT 11,00,000 To; HEME T (SN AT & AW 7L B) I 0 10%; S99 78,000 Fo; e

T 1,000 Fo URY 7 2 wedl & fo; i (Rew) 46,000 %o | v Sewae # e

SHTATE Bl AT AT ¥ | SRR ST T e R 56,000 To ¥ PRl 99 iR

o 3T ¥ Rraa A 36,000 To ¥ (WDV 14,000 Bo) 3K & T, (e 11,000 % feam

®) S ¥ | e T SO A H 11% RPFH T T & | SHHT R g6 SO A TR

®I AN HTT & | AR 10% B & § S0 RPF @ & ST &0 & Al 31 @ 2,56,000 To

% % Tl W A @ o o e ¥

mmwmaﬁtﬁakwwzom-w%mmmawﬁwmww%m

- 25,000 Go PPF & ST (T &) 1

Or (37ean)

The following are the particulars of income of Mr. Y (62 years), resident of India, for financial year

2015-16:

(a) Basic Salary Rs. 65,000 p.m. i

(b) Dearness allowance 30% of Basic salary. ~

(c) Transport allowance Rs. 2,000 p.m. :

(d) Personal medical bills for the treaﬁnent of Mr. Y reimbursed by the employer Rs. 35,000. The
treatment has been done by a private doctor. |

(¢e) He was given a chauffeur driven car (1600 cc) for private ana official use. All expensés of

running and maintenance including driver were paid by the employer.

PT.O.
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(f)  He contributed 15% of his salary to recognized provident fund account to which his employer
made matching contribution. Interest @ 13% p.a. amounting Rs. 52,000 had been credited to his
aforesaid recognized provident fund account during the previous year on 10.12.2015.

(g) He invested Rs. 40,000 in National Saving Certificate IX issue and paid Rs. 10,000 towards
life insurance prerﬁium for an insurance policy taken on the life of Mrs. Y (sum assured Rs.
4,00,000).

(h)  Mediclaim insurance premium (for policy taken for the benefit of Y, Mrs. Y and children) paid
Rs. 35,000.

Compute the total income and tax liability of Mr. Y for the assessment year 2016-17.

freet ¥ (62 o) s F foamel ¥1 o R o 2015-16 % Fre o & Rrawor Rrefee

&

(®) Ha a9 65,000 To Wiq a8

(@) WETE e g AqT B 30%

(1) uRET 9T 2,000 To Ui A

(=) WY%w%mmmﬁﬁaﬁaﬁfﬁﬁmmﬁﬂ?%ﬁ%oco
To F 47| IYER feft Sty grr fmar

(¥) S8 o Tt 7 wearr & @ RIT 1600 CCFY gRaR & &1 R & 7 oY | Tt @ -
PR TAN SR IqH @@ B qT FER F T ff P a7 R A 8

(%) TE ST A FT 15% AT 9 R @R § T e & R P
%WWW%|13%gﬁraéaﬁwﬁszooosow%mgaawmﬁﬁw
ffer @ e o Reiw 10-12-2015 ST Q¥ |

(B) TE 40,000 o TS o yAMIH IX PRy § Frfde fre & ok st v e o= &
Se W S ot @ forg Rk @rr S fifem 35,000 Bo Ru ¥

P Y& fefr o 2016-17 & R g om iR & e @ s SR 11

(a) How to calculate taxable income of a let out house property‘7

mqwﬁﬂéqgmﬁgiamﬁmmzmwﬁm%éﬁmw%? 5

(b) Discuss the provisions pertaining to deduction available in respect of interest on borrowed capital
p p
(loan taken for acquiring a property) under section 24, if the property is:
(1)  letout house property; and

(i) * self-occupied house property.
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gRT 24 & AT YR o 78 Gor (Gufcr & suiia & & fog form @ =) w O

& Gau f U el & IR H gl # e sid AR qufa:

() frag w & 7§ Hufa § ek .

(i) AR e ¥ ' ‘ 6

‘ ‘ Or (3rgan)

Mr. Himanshu owns a house. 50% of it is being used by Mr. Himanshu for his own business and 50%
of the house is let out @ Rs. 25,000 p.m. However, it remained vacant for two months. Fair rent of the
entire house is Rs. 40,000 p.m., municipal valuation Rs. 38,000 p.m. and municipal tax paid is Rs. 8,000.
Insurance premium péid is Rs. 12,000, repair charges Rs. 10,000 and depreciation of the entire house
is Rs. 26,000. His business income before charging expenditure relating to house property is Rs.
7,00,000. During the previous year, he gets bank interest on fixed deposits (amount of interest being Rs.
80,000, beforé deduction of tax at source). -

Compute his total income and tax liability for the assessment year 2016-17.

et iy 1 St O R & R 509 frex iy @ e aeE & fie s@u s
& SR W & 50% 25,000 Fo U WTE BRIT W far g ¥ qeiy 7@ & A @ fvg @l v
@1 HYof B T Sfa R 40,000 Bo IRy WTE ¥, Mfafie e 88,000 o W E E,
3R I JRe #R & Al 8,000 Bo R ¥ | fir fiftew & 12,000 Bo R ¥ | W @
10,000 Fo R WU T T YR 26,000 Fo TIAT ¥ | THH! AIEE ¥ AW, 6 W F
Haferd @l T FeT & UE 7,00,000 Fo ¥ | few af & v 3@ = Fwel | ¥ § @
e #1 99 W W FRA ¥ = @ @ AR 80,000 To Ay |
T i aef 2016-17 % fQ §w o ok @ aivE @ e R | 1

(a) Mr. Albert vacquired a residential house in March 2006 for Rs. 8,00,000, Expenditure on
improvement (being construction of additional floor) incurred during 2011-12 is Rs. 6,00,000. He
sold the house property in September 2015 for Rs. 90,00,000 (stamp duty value : Rs. 92,00,000).
He acquired a residential house in Mafch 2016 for Rs. 15,00,000. He invested Rs. 10,000 i'n
capital gains bonds issued by National Highways Authority of India (NHAI) during December
2016. |
Compute the capital gain chargeable to tax for the assessment year 2016-17.

Cost inflation index: F.Y. 2005-06 =497
F.Y.2011-12 =785
F.Y.2015-16 = 1081
P.T.O.
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et T X 8,00,000 o F A 2006 ¥ UH SAERIE HBM IUSiq 76T I6h FUR
T 2011-12 & 6,00,000 Fo &= U (faRem wie & Fmfor W) | 384 30 6 dufa &
fadaR 2015 F 9,00,000 Bo & I BT (W A 92,00,000 To W RN) | Raww 2016 &
10,000 o Foft AT WS & TN F ARG B WA SEA IR W A g 70
g
frefror af 2016-17 & foiw dofrma @ W T S 9@ @R AT AR BT |
AN Thifa guwiE: faciia af 2005-06 = 497
faia O 2011-12 = 785 }
g aw 2015-16 = 1081 \ 6
(b')‘ Briefly discuss provisions pertaining to taxation of gift received in cash/cheque by an
individual. :
AR EW BN AT A G TG IR B FUE e et @ 8w F e
FfAg | ‘ 5
: Or (W)

(a) Define the term “capital asset”.

e aREuiaal &t aRemer i) 5

(b) Mr. X transfers gold on October 1, 2015 for Rs. 40,00,500. He incurred Rs. 500 expenses on
transfer. Gold was purchased on May 1, 1985 for Rs. 1,00,000. He purchased a new house in
Mumbai for residential purpose on June 10, 2015 fqr Rs. 30,00,000. He does not own any other
house. He sold Mumbai property on April 15, 2017 for Rs. 70,00,000. Find out the chargeable
capital gain for the assessment years 2016-17-and 2018-19. Cost inflation index for 1985-86 is
133, for 2015-16 is 1081.

Y X, 1 S9N 2015 T 40,00,500 Bo &7 T SfaRe T ¥ | I 500 o W |
& Y| HT 1 7€ 1985 T 1,00,000 To F GET o7 | I 10 ST 2015 F 8,00,000 To |
T A 35T A TF AT 7 GUET | SHEH! YT Bg 3R AHM & & | Iq 15 Ay
2017 %! g & i & 70,00,000 Fo F I fam | Feior aw 2016-17 AR 2018-19 &
fTT T A TSRTA T ST HINTT | AT THifT Gahich 1985-86 & T 133 3R 2015-16

% forT 1081 B : 6
5. Mr. X (30 years), a salaried employee, furnishes following information for the previous year ending 73
March 31,2016: '
Salary Income ' —  Rs.40,80,000
Interest on debentures —  Rs.4,50,000
v oL '7/777 -2
R
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:

:

:

Interest on bonds = Rs: 1‘,80,000 :
Long-term capital gains | —  Rs.6,00,000

Gift received from a non-resident friend

through electronic transfer Rs. 4,00,000

Gift of a new cbmputer rg:ceived froma friend (value being Rs. 70,000).

~ Payment of insurance premium on the

life of spouse (sum assured Rs. 1,00,000) Rs. 8,000
Contribution towards RPF Rs. 30,000
Contribution towards PPF Rs. 10,000
Tuition fees of Mr. X’s Son Rs. 420,000

Payment of premium on OWn mediclaimpolicy ~ Rs.25 ,000
Determine: (i) Net Income, (ii) Tax Liability of Mr. X for the assessment year 2016-17.
e X (30 W)@Wmﬁ%la@qﬁmwaﬁm@ﬁaﬁa&%m

s TEE @ & |
I q AT —  40,80,000 T0
i W o™ —  4,50,000 T
IS | &= ~ — 180,000 B0
defater IR i —  6,00,000 0
i ot BE ¥ e SIaTT
4,00,000 Fo T IER I el 4,00,000 GO

ﬁﬂ%wmm(m,ooosorgﬂam)ﬁmmn

qeft & e W S Nt o foRa
(e T 1,00,000 B0 8,000 To
RPF & IR , | . /30,000 Fo
PPF § IEH | 10,000 %o
| , frex X & O @ geH i 90,000 0
sy i 2 ferfen awn il & e 95,000 T
fiRa AR () Fraw 9@, ) PR H Pyt o 2016-17 & fd B 11




1858

Or (3vrm)
Write short notes on the following:
(@) Set off and carry forward or business losses
(b) Deduction under section 80C.
Frfefen w afa Rogoh fifea:
@) Wmmwmmm#wﬁ
(@) 9rT 80C B iewfq Esa?ﬁl
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